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 

 Rx
X

B
g

g v c

V1 I =
3 R  +  R  +  R  + r R

 

B
t

vR =
I

 

 

m a x
ve m f = A B N ω = A B N 2 π F = A B N
r

 

 m a x
m a x m a x

e m fe m f = I R I =
R

 



max ةѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧلحظی
vemf = emf sinθ ABNωsinθ = ABN2πFsin2πFt = ABN sin2πFt
r



 
 

ins
ins m ax m ax max

em fI = I     sinθ =  I     sin ω t = I     sin 2π ft =
R

 



max
eff max max

emfemf = 0.707emf = = emf sin45
2

 

emf

m a x
e f f m a x m a x

II = 0 .7 0 7 I = = I s i n 4 5
2

 

=maxطةѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧمتوسemf = 0.636 - emf

 m
m axطةѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧѧمتوس

Δφ ΔBA 2 2em f = -N = -N = -4AB N F = em f = A B N ω
Δt Δt π π

 

FN ω 1 θF = = = =
t 2π T 2πt



V = 2πFr = ωrm/s 

km/h5
18

r  

 
θ V 2 2ω = = 2 π F = π =
t r 7



 
 

Nθ = 360× N
1

12
30 

¼ 
emfmaxemf = zero 

30  = 30  
30   = 30 + 90 = 120 
3 ms   =  X 3 X 10-3  = t
3 ms  

  =   ( X 3 X 10-3)  +  90 = t  + 90 
 
 

 

= pwt 

 
= VPIP=VSIS)Pws =Pwp  

SP P

S S P

IV N= =
V N I  

Pws =ηPwp 

S S S P S S

P P P S P P

V I V N N Iη = ×100 = ×100 = ×100
V I V N N I 

 

=  

 
P P P P

S1 S1 S2 S2

V N V N= =
V N V N

 

Pws1 + Pws2 =ηPwp 
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L
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L
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2πFC ωC
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n
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R
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R CV = V + V 

2 2Z = R + X C 

θVIC C

R

-V -Xtanθ = =
V R
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 
 CI = 0, , , , , , , , , X = , , , , , , , , , Z = 



 

 

 CR L

L C

VV VVI = = =
Z R X X

 

                2 2
R L CV = V + ( V - V ) 

2
L C

2Z = R + (X - X ) 
θVVR 

L C L C L C

R

V - V I X - I X X - Xt a n θ = = =
V I R R

 


2

2 eff
W eff

VP = I  R  =
R

RLRC

RLC
 

 

 
1 1F = ω =

2 π L C L C


1 2 2

2 1 1

F L C=
F L C

L1 = L2 

1 2

2 1

F C=
F C

C1 = C2 1 2

2 1

F L=
F L

 

L C L C
VX = X ,, V = V , , Z = R , ,I = , ,θ = 0
R

 


m1 1 m2 2λ ×T = λ ×T 
E = mC2 
 


2

W c e e
c

hC 1 hC 1E = hυ = = E - KE = hυ - m V = - m V
λ 2 λ 2

 

 

 2
w c c

c

1 C CK E = m v E - E = h ν - h ν = h ν - ν = h ( - )
2 λ λ

 


2 2

w c e e
c

hc 1 hc 1E = hυ = = E + KE = hυ + m V = + m V
λ 2 λ 2 

( ) ( او( W CE E υ υ 
 


2 2

E h ν hm = = = ( K g )
C C λ C

 

( k g m \ s )L

E h ν hP = m C = = =
C C λ



( j)2
L

h CE = h ν = = m C = P C
λ




L

h h Cλ = = =
p m C υ

 

 
W

L L L
2 P2 h ν 2 hF = 2 m C φ = ( ) φ = ( ) φ = ( N )

C λ C
 

( w a t t )
tw L L L

h C h CP = h ν Φ = E Φ = Φ =
λ λ

 

W
L

Pφ =
h ν

 

W
L

Pφ = t
h ν

w L
N h υ N hP = N h υ φ = =

t λ t


 
(m)

L

h hλ = =
P mv

 

 
V 

 



  1 2eV mv2 

 


, , nλ nh2πr = nλ r = =

2π 2πmv
 

n 2

1 3 .6E = - .e V
n

 

n+1 n
hcΔE = E -E = = hυ
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